CLIMBING FORMWORK - COMPONENTS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding | Ppage 01

AUSTRALIA

SINGLE AND MULTIPLE JUMP FORM SYSTEMS

NOTE: The following systems utilise items from: TD008 Superslim Soldier, TD010 Tie Systems & TD007 Aluminium Beams.

S/S SHEAR
BRACKET

Code: SSA10003 3.0kg 167

76 x38 x4 WALL RHS
378

«
J
o
2
=)

130

150

I %
40

O‘
s
=
g
N
(8)]
=
Z\

2 HOLES ¢22

R17

FC

S/S LVL SHEAR
BRACKET

Code: SSA10177 2.7kg R
76 x38 x4 WALL RHS
323

w
o
~
~
—_
N
o
o

150
-
40

=
=3
=
o~
O
=
Q|
=
<

J 2 HOLES #22
65 R17

430 -

S/S FORM SUPPORT - N ) 76 x38 x4 WALL RHS
BRACKET . ‘_ T — | rﬁ L
Code: SSA10165  5.8kg T 1 5

| 3 HOLES ¢21

120

180

240
Wé’ 120
T
\ \
| |

N\

75 x75 x5 WALL RHS

TECHNICAL DATA

70 135

S/S WALL SHEAR | ;|—1 HOLE 626
BRACKET Tl ] ﬂ [ /@/ [
Code: SSAT0175  5.9kg 3 ) e
NOTE: L
BRACKET REQUIRES USE OF M24 BOLT s 6 || 83 || 16
BNA12455 (55mm LONG) TO SECURE e = -
M24 ANCHOR SCREWS
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%

7



CLIMBING FORMWORK - COMPONENTS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding Page 02
SINGLE AND MULTIPLE JUMP FORM SYSTEMS
170 44
WALKWAY SUPPORT S ——I——— 920
BRACKET L
Code: SSA10180 2.4k H | | 8 ©
° 1 &) O E
L1 e
I I I
\—76 X38 x4 WALL RHS <
25 120 |
& \$; P
= B *\z HOLES 014
S/S OFFSET PLATE — n
Code: SSA10172 9.33kg N M16 TAPPED HOLES
HOLE PATTERN TO SUIT
0 1245 STAGGERED S/S SOLDIERS
g 4 F -
s oo
32
FASTENERS 0
M24 x 55mm Hex Hd — TO SECURE SSA10175 TO M24 ANCHOR SCREW —
Bolt G8.8
Code: BNA12455  0.30kg z
NOTE:
OTHER FASTENERS REQUIRED ARE LISTED
IN ASSOCIATED TECHNICAL DATA SHEETS
- TD007 / TDOO8
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - COMPONENTS TD 021
RMD,‘,E",‘?“%"WCQ in Formwork, Shoring & Scaffolding - Page 03
SINGLE AND MULTIPLE JUMP FORM SYSTEMS - INTERNAL 50kN SYSTEM
S/S INTERNAL L
SHUTTER JACK 225 RE W*
- R162 - ; |
Code: SSA10027 11.0kg . SWING e 8 65 x3 SHS
o & f = \rl_%
g C%H\@%g | HE |
o Se) ) : s -
$18mm HOLES s 84.5 \ e
S |
TOP VIEW <
S/S SHEAR KEY n
END - 50kN . e
Code: SSA10032  14.5kg 1P+ s
PAINTED BLUE o J ‘
=
S/S SOLDIER
_\ 85_ 120 2 <
] v_| = T —
o o B e el e—— T
® g N WLLSOKN ' | i ‘ ’
o | o 1 i?itl?.%’é?%‘“ . Im)
- | ]
180 225 52
NOTE: 825 z
UNIT MUST BE CONNECTED TO SOLDIERS
USING 6 OFF M16 G8.8 BOLTS
S/S SHEAR KEY i I
ARM - 50kN 8E 7T T 11
- (I
Code: SSA10042 10.1kg - 0
PAINTED BLUE 360
1 HOLE 625
N\ 265 50 m
—
S Y -
100 x50 x5 WALL RHS
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - COMPONENTS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding | Ppage 04
SINGLE AND MULTIPLE JUMP FORM SYSTEMS - INTERNAL 50kN SYSTEM
S/S SHEAR . oo
PIVOT PIN - 50 kN “—"
Code: SSA10034  0.46kg gﬁ \®\
‘ 120 024
S/S INTERNAL :
o | e
SUPPORT JACK S =
Code: SSA20007 7.5kg & ‘ & \\MP%nT?RSOTLgSsun
25 | 225 | S/S SOLDIER <
1 * o
032
10 ‘
T‘ — \ a 7] I
NOTE: 140 MIN ! 76 x38 RHS
e T o i -
S/S INTERNAL I 0
SUPPORT JACK o
SLIP PLATE < 2 OFF NALING HOLES —
Code: SSA20008 0.90kg : z
200
3 THICK
_' L
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%

7



CLIMBING FORMWORK - COMPONENTS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding | Ppage 05
SINGLE AND MULTIPLE JUMP FORM SYSTEMS - INTERNAL 25kN SYSTEM
S/S SHEAR KEY | .
FORM BRACKET MK 1 o 1T of
Code: SSA10160 5.2kg 8 o
° \76 X38 x4 WALL RHS
152.5 \1 HOLE ¢22 E
$18mm HOLES P
PR 0 o L
S/S SHEAR KEY ;
END - 25kN ]
— el
77777 |
Code: SSA10030 13.5kg i
PAINTED ORANGE 0 j_ J
S/S SOLDIER %jusan <
60, 150 22 i
1R (o
Lo ] HE I
) ® ) 8 = WLL ZSKI% % #
#‘ —T H L y L
180 225 522 52 z
S/S SHEAR KEY -
ARM - 25kN gE T 7 11 0
- L_ 1]
Code: SSA10040 8.1kg -
PAINTED ORANGE 360
1 HOLE 922
\ 265 50, m
—
. 1O -
100 x50 x5 WALL RHS
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - COMPONENTS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding " Page 06

AUSTRALIA

SINGLE AND MULTIPLE JUMP FORM SYSTEMS - 25kN/50kN INTERNAL SYSTEM

S/S SHEAR KEY —
POCKET FORM \ /

Code: SSA10045 4.0kg

— \TYPICAL 2.5mm THICK

| 90 PLATE CONSTRUCTION

@10 HANDLE

-
4
|

170
135
190

NOTE: | 120 150 810
FOR USE WITH 150mm WALES ONLY 180

FASTENERS

M20 x 130mm Hex Hd
Bolt G8.8
Code: BNA12080 0.36kg — TO CONNECT SSA10040 to SSA10030 (25kN SYSTEM)

M20 Nyloc Nut — Type “P”
Code: BNA12002 0.06kg

M20 FLAT WASHER
Code: BNA22000  0.02kg

S/S COTTER PIN 63 x8mm
Code: SSA10055 0.05kg

NOTE:
OTHER FASTENERS REQUIRED ARE LISTED
IN ASSOCIATED TECHNICAL DATA SHEETS
- TDO07 / TDOOB

TECHNICAL DATA

This information conforms to AS3610 RMD reserves the right to change this information.

DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’
7




CLIMBING FORMWORK - COMPONENTS j TDo021

RMD - Excellence in Formwork, Shoring & Scaffolding - Page 07
ROLLBACK SYSTEM
NOTE: The Rollback System utilises items from: TD008 Superslim Soldier, TD010 Tie Systems & TD007 Aluminium Beams.
S/S WALL SHEAR 135 70
BRACKET 1 HOLE ¢26+\ | R20
Code: SSA10175 5.9kg | \®\ | "’EN

150

NOTE:
BRACKET REQUIRES USE OF M24 BOLT 16 | | 83 | | 16 LI_«

BNA12455 (55mm LONG) TO SECURE
M24 ANCHOR SCREWS

180 103
130 #18mm HOLE PATTERN

J:—L TO SUIT S/S SOLDIER
END PLATE.

|

S/S FORM SHEAR
BRACKET

Code: SSA10185 11.5kg

50
TO TOP OF SLIM
—
O
—7
T 85

e

TO SUIT
948.3 PIPE

|

:

-
TECHNICAL DATA

S/S ROLLER = el
BASE 7
e
Code: SSA10140 28.0k ‘ T 44
oce g S
922 TYP. —4@—' o o '—@‘_ :—Jw'—_—ﬂ:ﬁ;
) U 48 RAHE
Q) S O  —
218 TYP'_)T BOTTOM OF ROLLER—‘ \T—/ T 7
110
' 1000 | 190
1100 OVERALL INSIDE
150
S/S ROLLER FORM | '
BRACKET O ]
Code: SSA10195  3.0kg 9//@ =
40 x40 x4 WALL RHS—;/
2 HOLES ¢18 50 625
L) —
— - M24 x130mm G8.8 BOLT
2| « | /
Ul o
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - COMPONENTS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding Page 08
AUSTRALIA
ROLLBACK SYSTEM
S/S ROLLER LOCK " 15MM BAR TIE COUPLER
——'—<_
BRACKET o

75

Code: SSA10190 2.0kg

/020 HOLE
2 HOLES ¢21

44
M

76 x38 x4 WALL RHS

S/S ROLLER
HANDRAIL

/ $/S END PLATE /¢48.3 %40 WALL PIPE

e P
i

Code: SSA10010 9.9kg

282

1 80%

225
1500
S/S ROLLBACK 2175

STRUT ‘ 1885 ‘

Code: SSA10035 19.4kg
& - @
\¢21 e \100 x50 x4 WALL RHS <<¢605 X3.6 WALL PIPE \

76 x38 x4 WALL RHS

— 0 7 —t

S/S FOOT
PAD 208

92

Code: SSA10065 3.5kg B&S}UE‘IPE
! o\_/0 g
137 \ \
76 %38 x4 WALL RHS

TECHNICAL DATA

100

:
d
(N

2 HOLES #21
428 OVERALL
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



M24 x50 Hex Hd G8.8 Bolt

Code: BNA12450  0.27kg

— TO SECURE SSA10185 TO M24 ANCHOR SCREW

CLIMBING FORMWORK - COMPONENTS TD 021
RMD,‘,E",‘?“%"WCQ in Formwork, Shoring & Scaffolding - Page 09
ROLLBACK SYSTEM
230
REFLEX PLATFORM cooe, SSkiongs—__ [
PIN o e
Code: RXX30005  0.43kg 11 HOLE 94 8
#15 NOM. -
$/S FORM =
RETRACTOR
Code: SSA10070  4.0kg 2T LORD LT <
= |Q
RANGE 550 - 1800 |
WALKWAY SUPPORT 170 M <
BRACKET —E |~
Code: SSA10180  2.4kg H U
T &) O &
L ) X ‘
I I I _
76 x38 x4 WALL RHS
25 120
2
P
— B *\2 HOLES #14 I
FASTENERS 0

NOTE:
OTHER FASTENERS REQUIRED ARE LISTED
IN ASSOCIATED TECHNICAL DATA SHEETS
- TD007 / TD0O8

This information conforms to AS3610

RMD reserves the right to change this information.

DATE: 18 Nov 2013

ISSUE No: 6

PREPARED BY:

APPROVED:

Yis)

7



CLIMBING FORMWORK - COMPONENTS 7

RMD - Excellence in Formwork, Shoring & Scaffolding

TD 021

Page 10

AUSTRALIA

CORNER SYSTEMS

NOTE: The following systems utilise items from: TD010 Tie Systems & TD007 Aluminium Beams.

S/S INTERNAL
CORNER PIN

Code: SSA10060 1.85kg

036

==

250

350

(3]

:(

ANGLE 'B'

Code: SSA10270 30.1kq

) 4000
S/S INTERNAL ) 900 ) 900 900 800 , 200
ANGLE 'A' | | |
Code: SSA10260 50.3kg I:% % H
———TOP OF FORMS
2 HOLES ¢38
4000
S/S INTERNAL o - 20 300 2

>

———TOP OF FORMS

S/S CORNER CLAMP

Code: SSA10325 0.4kg

D
O

2 HOLES ¢14

TECHNICAL DATA

This information conforms to AS3610

RMD reserves the right to change this information.

DATE: 18 Nov 2013

ISSUE No: 6

PREPARED BY:

APPROVED:

Aty

7



CLIMBING FORMWORK - COMPONENTS

RMD - Excellence in Formwork, Shoring & Scaffolding

TD 021

Page 11

AUSTRALIA

CORNER SYSTEMS

S/S HEAVY DUTY
INTERNAL CORNER

S/S HD Int Cnr 4.2m

Code: SSA10280  117.5kq
S/S HD Int Cnr 4.4m
Code: SSA10285  120.3kq

MAX PERMISSIBLE LAP = 75mm
| 300 | /

15mm BAR TIE FULL NUT

75 x75 x5 VERTICAL SUPPORT ANGLE
FULL LENGTH OF FORM

i

/

) 50 x50 x6 SUPPORT ANGLE
2 x45 CHAMFER TYP.
©
,,,,, J
TE
o<
N ==
T™V—ANT 88
<+ ©
[ Ey/ U P
A -
o
(2]
o
ZzZ
[ Ey/ U P 35
A (==
€E
N <
< <
o
LAt 8
— /A
o
o
AV B
/A
o
N
o~

75 x75 x5 VERTICAL SUPPORT ANGLE
REMOVED FOR CLARITY

This information conforms to AS3610

RMD reserves the right to change this information.

DATE: 18 Nov 2013 ISSUE No:

6 PREPARED BY: D.H. APPROVED:

Yis)

7

TECHNICAL DATA



CLIMBING FORMWORK - COMPONENTS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding Page 12
CORNER SYSTEMS
S/S EXTERNAL
CORNER
Code: SSA10290 16.8kg =
N\

. 50

200

[S]

350

100

[S]

/—¢14\

1200
5 HOLES @ 100 CTRS - 400
|

S

— o
_/
CLAMP STRIP

#20 — CORNER TIE HOLES
@ 45" TO ALFORM

7 : gg}
100

<
>
-7
B

TECHNICAL DATA

This information conforms to AS3610 RMD reserves the right to change this information.

DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’
7




CLIMBING FORMWORK - DESIGN DATA TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding - Page 13

AUSTRALIA

CLIMBING FORMWORK

S/S Shear Bracket (SSA10003)
Maximum Working Load Limit. = 15kN

- S/S LVL Shear Bracket (SSA10177)
Maximum Working Load Limit. = 15kN

- S/S Shear Key End - 25kN (SSA10030)
Maximum Working Load Limit. = 25kN

- S/S Shear Key Arm - 25kN (SSA10040)
Maximum Working Load Limit. = 25kN

- S/S Shear Key End - 50kN (SSA10032)
Maximum Working Load Limit. = S0kN

- S/S Shear Key Arm - 50kN (SSA10042)
Maximum Working Load Limit. = S0kN

- Walkway Base (SSA10145), cantilevered out from
Superslim Soldier.
Maximum Working Load Limit. = 6.2kN UDL (LSCF=2.0)

- Walkway Base (SSA10145), supported by a Turnbuckle
from a Superslim Soldier.

Maximum Working Load Limit. = 20kN UDL (LSCF=2.0)

- Plumbing Jack (SSA20001)
Maximum Working Load Limit. = 37kN  (LSCF=1.5)

- Bar Tie Connector (SSA10305)

TECHNICAL DATA

Maximum Working Load Limit. = 66kN
- S/S Connecting Pin (SSX10044)
Maximum WLL in Shear. = 70kN
- S/S Form Support Bracket (SSA10165)
Maximum WLL Vertically down. = 40kN
Maximum WLL in Tension. = S50kN
40kN
$ 3
| ] 50kN —=—
,OJ
s w38 00
(SEE PAGE 14 FOR WLL) 2&{?&" SUPPORT BKT.
FORM SUPPORT BRACKET
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - DESIGN DATA TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding - Page 14

AUSTRALIA

SUPERSLIM WALL SHEAR BRACKET CAPACITY (SSA10175)

70KkN
G10.9 UTS. 1040 MPa
YIELD. 940 MPa <
60KN G8.8 UTS. 830 MPa
YIELD. 660 MPa I
G10.9 B(k
50kN <
E Max. capacity of Form
= 40kN Support Bracket (SSA10165) n
<
w
I
”n G8.8 BOLT
30kN TeoLT
\ J
20kN
10kN
—
OkN 10kN 20kN 30kN 40kN 50kN 60kN 70kN
TENSION, (T) Z
The above graph shows the maximum working load limits for the Wall Shear Bracket when I
subjected to a combination of vertical & horizontal forces.
This graph applies for the Wall Shear Bracket (SSA10175) used with either Form Shear Bracket 0
(SSA10185) or the Form Support Bracket (SSA10165) I I
The actual maximum working load on the bolt:
In Tension, Teoer = T+ 0.64V These are the loads that shall
In Vertical Shear =V be noted on the drawings I

Capacity of the M24 anchor screw shall be checked if these are to be used.

This information conforms to AS3610 RMD reserves the right to change this information.

DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’
7




CLIMBING FORMWORK - APPLICATIONS TD 021

5

o

O

o
o

PLUMBING JACK o j

O
RS
| Q

Ty

o
o

)

>\RAPID 15mm

)

>\RAPID 15mm

o]
o]

000

o

RMD - Excellence in Formwork, Shoring & Scaffolding Page 15
SINGLE JUMP ARRANGEMENT
i AL i The single jump arrangement is for walls that are to
be poured in 2 lifts only. After the 1st pour a Soldier
& Plumbing Jack are to be bolted on to the bottom of
/ . the wallform soldiers.
It is imperative that the tie supporting the 2nd pour
: ol o) O formwork is arranged so that the climbing formwork <
o= i = o) is secured at all times. This may be effected by using
O O bar tie cones as shown, or some other system which P
) O] O] i does not permit the bar to be pulled through the wall
i O O P when only one form is secured.
O O A bar tie in the conduit shall not be used. <
O O \
O] O]
Sl g2 a
O] O] Note: Walkways are constructed
S/S WALKWAY ©) O SINGLE TOP HANDRAIL .
C%%FE’f’OSRSTMBOR"Kag\ ol o UBE & MESH GUAROS from ply and timber.
O ) TOP HANDRAIL, MIDRALL 2 timber members are shown for
'§H°O = Oﬂé' & TOEB0ARD. illustrative purposes only. Members J
O] O] shall be checked to ensure they are
O] O] capable of spanning between
8 8 JonT I SpEESUS walkways a.nd accommodating <
= auE e ShaL BE A cantilevers if necessary e.g. external
1 b~ b~ o1 corners of walls.
Soue 1O O Planks of appropriate strength 0
5 8 '_/"E‘ % \ maybe used if cantilevers do not
= ook exceed 300mm. e
<Ml
] ] ol | .4/ [[o — z
s/s wakway | ; o) ~
c%%E?OSRSTMBoR;KaE o] 1 |lo \
o k4 (O \
ol 4 lio @éﬁé*&%ﬁ o005 ot Ssmorry 0

— = —

- — BAR TIE CAST e BAR TIE CAST
e B SR B
CODE: BTX90001 : CODE: BTX90001 :
—
o SUPERSLIM SUPERSLIM LVL
L] SHEAR BRACKET SHEAR BRACKET
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding | Page 16

AUSTRALIA

MULTIPLE JUMP WALLFORM WITHOUT ROLLBACK (ALFORM OR 150mm LVL)

[
0.0

3
ry

ATTACH ANCHOR SCREW TO FORMWORK
PLY WOOD WITH M24 x55mm BOLT.
— GRADE 8.8 OR 10.9 REFER PAGE 14

] [@)
8] [e)exe

3
ry
3
ry

Omm

ojo%o
0.0[0
T

3
ry
3
ry

®)
®)

3
ry
3
ry

3mm 3mm

®)
®)

3
ry
3
ry

O
O

[
O,
O

3
ry
3
ry

®)
®)

Omm

3
ry
3
ry

8
o

S/S WALKWAY SUPPORT BRACKET
CODE: SSA10180 —

T
ry
3
ry

Anchor Screw setting location
- in shutters shall be within
3mm of true horizontal location.

Note: If Anchor Screws are used these shall
only be M24 Anchor Screws.

0.0.0.0.0 O$O

I

0.0.0.0.0.0[0
T

220 200

o] o)
T2 |

0.0.0
0,0,00.0|D

ATTACH S/S WALL SHEAR BRACKET TO M24 ANCHOR SCREW
WITH M24 x55mm BOLT. (GRADE 8.8 OR 10.9 REFER PAGE 14)
AND LIFT WALL FORMWORK INTO PLACE FOR NEXT POUR

S/S FORM SUPPORT BRACKET

CODE: SSA10165 \/

Ie

3
ry
3
ry

®)

O,
X
L
o

®)

S/S PLUMBING JACK —

CODE: $SA20001 \
X

Note: Walkways are constructed

from ply and timber.

2 timber members are shown for

illustrative purposes only. Members
shall be checked to ensure they are

S/5 WALKWAY Rl capable of spanning between

- walkways and accommodating

cantilevers if necessary e.g. external

corners of walls.

Planks of appropriate strength

maybe used if cantilevers do not

0.0

Q
\,
0.0
X

TECHNICAL DATA

e exceed 300mm.
L] REMOVE S/S WALL SHEAR BRACKET
CODE: SSA10175
mﬁ/AND ANCHOR SCREW
| FROM PREVIOUS POUR
b
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD Excellence in Formwork, Shoring & Scaffolding - Page 17

AUSTRALIA

MULTIPLE JUMP WALLFORM WITHOUT ROLLBACK (95 mm LVL)

0 5
2
. \ o
d (@) i[O ] - y >
L O ' B _— B
P o . —_—
LO. (@) —
O O]
O 0 ATTACH ANCHOR SCREW TO FORMWORK
Mo — o PLY WOOD WITH M24 x55mm BOLT.
O O — GRADE 8.8 OR 10.9 REFER PAGE 14
OO Oe
OO OO
OO OO
s A —17mm PLY
Cq 95 x65mm LVL

Wi xdomm HEX BOLT 685
OFF

o

CODE BNA11635

o

T@

o] Jﬁs/s OFFSET PLATE
l CODE: SSA10172

e
o

o

o

0’0’00 00000
|

0.0.0.0.0[0.0.0.0

In

O

=7
\

352 O ——
N ﬁ af ATTACH S/S WALL SHEAR BRACKET TO M24 ANCHOR SCREW
S/S FORM SUPPORT BRACKET SN i WITH M24 x55mm BOLT. (GRADE 8.8 OR 10.9 REFER PAGE 14)
CODE: ssmmesv @) @) AND LIFT WALL FORMWORK INTO PLACE FOR NEXT POUR
-e OOG Oe 3-
OOO Oo
S/s CPOL[g’gB'SNSiZ%%%ﬁ N O, O] Note: If Anchor Screws are used these shall
’ \ O] an Ol only be M24 Anchor Screws.
oOe Oe
O
X X
¥ o / o

S/S WALKWAY SUPPORT BRK'T
CODE: S5A10180 —4  Note: All other Anchor Screw and Walkways detail are per

"Multiple Jump Wallform without Rollback
(Alform or 150mm LVL)"

TECHNICAL DATA

—
S REMOVE S/S WALL SHEAR BRACKET
g/ CODE: SSA10175
: AND ANCHOR SCREW
FROM PREVIOUS POUR
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding - Page 18

AUSTRALIA

DETAILS OF ROLLBACK SYSTEM

The Rollback system comprises shutters which are
mounted on roller bases incorporated into a
Superslim frame. The frames are secured to the

bt Se,ToME previous pour by a Wall Shear Bracket &
UTILISED FOR INSTALLING WALL 1
FORM ONTO ROLLER BASE corresponding Form Shear Bracket. The forms are

retracted by two Form Retractors to allow access for
cleaning & oiling the forms.

S/S WALKWAY
3 SUPPORT BRK'T
[ CopE: SSA10180
TRAILING PLATFORM FOR RECOVERY
\SCAFFOLD TUBE OF ANCHOR SCREWS AND
WALL SHEAR BRACKETS.
N INTRODUCED FOR 3RD POUR AND
\HANDRA,LS AND SUBSEQUENT POURS.
MESH GUARDS

SOLDIER
2700

| — PLATFORM TO RECOVER

of ] The full assembly is crane lifted to the next position. I
R i
O] Note: Walkways are constructed from ply and timber.
O 2 timber members are shown for illustrative purposes
- 8 only. Members shall be checked to ensure they are
E o capable of spanning between walkways and n
% ) accommodating cantilevers if necessary e.g. external
8 x X corners of walls.
E‘ o] ) Plagks of appropriate strength maybe used if
g O] cantilevers do not exceed 300mm.
S O,
& = J
Oo
Oo
O° FORMS AND EQUIPMENT REUSED <
O FROM 1ST POUR ARRANGEMENT.
Oo
50 OVERLAP @)
o ———— b _ _1 5mm 0
325 TYP] (10,02 ®0.0,0
i1& 5mm 5mm —
0] ®
M24 ANCHOR O
SCREW H o ROLLBACK EQUIPMENT INTRODUCED Z
9 A FOR 2ND POUR AND SUBSEQUENT
O. H POURS. SEE NEXT PAGE.
Oo
e 0 5mm
O’ SUPERSLIM SOLDIERS TO
suszsum/ o SUPPORT MAIN. PLATFORM Anchor Screw setting location I
SOLDIER 210 in shutters shall be within
O] 5mm of true location. 0
X
/1ol
Q,
L
’Oo
o
2
SUPERSLIM O
DR ooo
oOe
Lo °O°
O

¢ A ( ANCHOR SCREW
o[ N
+_ Oc
POUR POSITION S/S WALKWAY BASE Note: If Anchor Screws are used these shall
only be M24 Anchor Screws.
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - APPLICATIONS

RMD - Excellence in Formwork, Shoring & Scaffolding

TD 021

Page 19

AUSTRALIA

[¢) [ [

[¢)

e

©.0.0.0.0,0.0.0.0,0.0

ALFORM BEAM

or 150 x65 LVL\

[¢)

[¢)

o

o

o

S/S FORM SHEAR

BRACKET
CODE: SSA10185 2

[}

ROLLBACK SYSTEM IN SET POSITION (ALFORM OR 150mm LVL)

o

o

o

o

o

SHORT P/PULL PROP
CODE: PRA70015

o

o

S/S ROLLER BASE
CODE: SSA10140

o

o

o

o

50 LAP

S/S ROLLER FORM
BRACKET
CODE: SSA10195

o/ HEIGHT ADJUSTMENT

0 o Q

| —— ORIENTATION OF SOLDIER

IS CRITICAL.

NOTE - POSITION OF STIFFENER
- ROLLER LOCK BRACKET
- ROLLER FORM BRACKET

\

o

O
M16 x40mm HEX
BOLT FOR
SAPTVATING ROLLER N.B. FORM RETRACTOR REMOVED
FOR CLARITY.
PLATFORM
— - \

\

M24 ANCHOR
SCREW

WITH M24 x55
G8.8 OR G10.9
BOLT

REFER PG 14
S/S WALL SHEAR
BRACKET

CODE: SSA10175

o

REFLEX PLATFORM PIN
& SPRING CLIP
CODE: RXX30005
CODE: SSA10095

o

o

0,0,.0,0,0,0,0,0.4

COUPLER USED FOR
HORIZONTAL BRACING

o

V4

o

SINGLE DIAGONAL BRACE /
TUBE & FIT

o

S/S FOOT PAD
CODE: SSA10065

o

[

e

omo

\*S/S ROLLER LOCK BRACKET
CODE: SSA10190

\—FULL NUT AS LOCK NUT

M16 x40mm HEX BOLT FOR
CAPTIVATING ROLLER BASE

)]

N o INDICATES CONNECTING
\PIN & SPRING CLIP
CODE: SSX10044 &
SSA10095

—
VERTICAL S/SLIM FOR
TRAILING PLATFORM

@ o® 00 g0d

[ [
o \ e :
© o ©J UNIVERSAL CLP ', O] /
CODE: olol°)
AFX20015 R
TECH SCREW TO
TIMBER PLANK
SUPERSLIM SOLDIERS TO
SUPPORT MAIN PLATFORM
S/S ROLLBACK STRUT
CODE: SSA10035
e |
R Trw‘
ni 11
b )
I 1
\¢43,3 SCAFFOLD TUBE ol 4
FOR HANDRAIL POST o o
O
o o
o

/

-

M16 x40mm HEX BOLT FOR
CAPTIVATING ROLLER BASE

SECTION THROUGH ROLLER
BASE & SOLDIER

This information conforms to AS3610

RMD reserves the right to change this information.

DATE: 18 Nov 2013

ISSUE No: 6 PREPARED BY:

D.H. APPROVED:

Aty

7

TECHNICAL DATA



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding | Page 20
ROLLBACK SYSTEM IN STRIPPED POSITION (ALFORM OR 150mm LVL)
600_NOM. . After an appropriate curing period the forms

| can be struck using the Push/Pull Props and
the S/S Form Retractors (SSA10070).

O
o

o

0.0,0,0,000000..0

°

Retract the form the full 600mm to allow
access for cleaning, oiling of the forms and
mounting of the S/S Wall Shear Brackets.
Hold in position with Bar tie and the

S/S Roller Lock Bracket as shown.

o
o

o
o

\

o
o

o o o o
o o o

o

o
o

[¢]

M24 ANCHOR
SCREW
WITH M24 x55
G8.8 OR G10.9
BOLT

REFER PG 14
REFLEX PLATFORM PIN
& SPRING CLIP

CODE: RXX30005
CODE: SSA10095

° @o
O

[

0.0,0.0,0,0.0.0.0

o

o
o

MOVE BAR TIE & NUT TO THIS
SIDE TO HOLD FORM IN
POSITION

o
o

o
o

[
o

[
o

[
o

&
TECHNICAL DATA

e
O,

pl

This information conforms to AS3610 RMD reserves the right to change this information.

DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’
7




CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding - Page 21

AUSTRALIA

ROLLBACK SYSTEM IN SET POSITION (95mm LVL)

o o o (s}
o o o

o

o

Z

7
0.0,0,0,000000..0

95 x65 LVL\

o
o

SHORT P/PULL PROP
CODE: PRA70015

o
o

®
(o] O]
(]
N ORIENTATION OF SOLDIER
IS CRITICAL.
(] O] NOTE - POSITION OF STIFFENER
- ROLLER LOCK BRACKET
° gégEROSITSLAEF 0134/}? £ - ROLLER FORM BRACKET
NP,
S/S FORM SHEAR ° e
BRACKET o o
. S/S ROLLER FORM
CODE: SSA10185 A <
E 4_ o\ _/0] CODE: SSA10195 V16 xdomm HEX
g L HEIGHT ADJUSTMENT BOLT FOR
['s}
' e o * CAPTIVATING ROLLER N.B. FORM RETRACTOR REMOVED
U F e=AUN- BASE " FOR CLARTY.
< . £/ |0 : PLATFORM
] B B [ L A [ [ _— -
0@ O0® 0O O00.@ VA
SCREW r o o [ o o o e o / ' L
WITH M24 x55 ) = ' ' ' S , \
G8.8 OR G10.9 0°%0 : v
BOLT O y \ i "
REFER PG 14 S/S ROLLER LOCK BRACKET o
° CODE: SSAT0190 ° ) UNVERSAL CLP™. o ls| /
S/S WALL SHEAR Q AFX20015 ol J .
BRACKET o
CODE: SSATOTTS N FULL NUT AS LOCK NUT TNBER Bk
REFLEX PLATFORM PIN Q TIMBER PLANK I
A b o M16 x40mm HEX BOLT FOR SUPERSLIM SOLDIERS TO
CODE: SSA10095 Q CAPTIVATING ROLLER BASE SUPPORT MAIN PLATFORM
COUPLER USED FOR o o
HORIZONTAL BRACING
S/S ROLLBACK STRUT
Mg CODE: SSA10035
19 LL
-
SINGLE DIAGONAL BRACE / o o =
TUBE & FIT Q N
TG VIl
o o I 1 P
ol 4
S/S FOOT PAD O \1648.3 SCAFFOLD TUBE O o
O A1
o el o
\mmcmzs CONNECTNG ~ |_ |
\ @,* PIN & SPRING CLIP M16 x40mm HEX BOLT FOR
iyl CODE: SSX10044 & CAPTIVATING ROLLER BASE
ﬁl SSA10085
°m° T \eRTICAL SECTION THROUGH ROLLER
SUPERSLIM FOR BASE & SOLDIER
TRAILING PLATFORM
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: DH. APPROVED: %@'

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD Excellence in Formwork, Shoring & Scaffolding - Page 22
ROLLBACK SYSTEM IN STRIPPED POSITION (95mm LVL)
600_NOM. . After an appropriate curing period the forms

| can be struck using the Push/Pull Props and
the S/S Form Retractors (SSA10070).

[s)
o

o
o

Retract the form the full 600mm to allow
access for cleaning, oiling of the forms and
mounting of the S/S Wall Shear Brackets.
Hold in position with Bar tie and the

S/S Roller Lock Bracket as shown.

o
o

o

o

o

Z

95 x65 LVL\

[
o

[
o

[
o

o
o

o

7

7
0.,0,0.0,0,0,000.0,0

o
o

S

o
o

- >

N :
@b@@@@@

\MOVE BAR TIE & NUT TO THIS

SIDE TO HOLD FORM IN
POSITION

@

M24 ANCHOR
SCREW
WITH M24 x55
G8.8 OR G10.9
BOLT

o
o

REFER PG 14

REFLEX PLATFORM PIN
& SPRING CLIP

CODE: RXX30005
CODE: SSA10085

o
o

o
o

o
o

[
o

6] [}
o

o

[
o

TECHNICAL DATA

[¢)

0.0,0.0,0,0,0 0 0Ol

o

g
O,

pl

This information conforms to AS3610 RMD reserves the right to change this information.

DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’
7




CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding

Page 23

AUSTRALIA

665 NOM.

i/ VERTICAL SLINGS

With the forms rolled rearwards and held in
position with Bar tie and the S/S Roller Lock
Bracket as shown.

When ready to lift the forms, remove the
Reflex Platform Pin (RXX30005) and lift to
next pour position.

ROLLBACK SYSTEM IN LIFT POSITION (ALFORM OR 150mm LVL)

i/ VERTICAL SLINGS

—— VIEW A’

(SEE PAGE 24)

REFLEX PLATFORM PIN

& SPRING CLIP
CODE: RXX30005
CODE: SSA10085

LIFTING LOCATION

The forms shall only be lifted from
the underlying Superslim Soldier
with vertical slings to lifting beams.

\ UNDERLYING SOLDIERS

FULL NUT AS LOCK NUT

TECHNICAL DATA

This information conforms to AS3610

RMD reserves the right to change this information.

DATE:

18 Nov 2013

ISSUE No:

6

PREPARED BY:

APPROVED: %@'

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD Excellence in Formwork, Shoring & Scaffolding - Page 24

AUSTRALIA

ROLLBACK SYSTEM IN LIFT POSITION (95mm LVL)

‘ With the forms rolled rearwards and held in
position with Bar tie and the S/S Roller Lock
|\ Bracket as shown
- \_VERTICAL SLINGS When ready to lift the forms, remove the
620 NOM. Reflex Platform Pin (RXX30005) and lift to

=70 FACE OF SHUTTER | o
next pour position.

95 x65 LVL-\

VERTICAL SLINGS

LOCK ROLLER BASE —

—+— VIEW A

\ UNDERLYING SOLDIERS

REFLEX PLATFORM PIN
& SPRING CLIP
CODE: RXX30005

CODE: SSA10085 LIFTING LOCATION

The forms shall only be lifted from
the underlying Superslim Soldier
with vertical slings to lifting beams.

VERTICAL * * VERTICAL
SLINGS _\I - I/ SLINGS
i

x
o
NN\
o

TECHNICAL DATA

o o

o
\\|

o

> i Zwoﬁ‘g s
O Q Q Q Q Q QOQOQ@\QOQ
EH:IJ L(E)tOJUNDERLYING SOLDIER

Q T

o

"O

o

o
0000 EH:L,
VIEW 'A'
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding Page 25

AUSTRALIA

SEQUENCE OF OPERATION OF THE ROLLBACK SYSTEM

{0 CRANE LIFT TO NEXT
POUR POSITION.
(SEE PAGES 23 & 24)

L =
o] (1) REMOVE BOLT
SECURING
ANCHOR SCREWS

'/@ REMOVE TIES

SECURE WALL SHEAR BRKT
WITH M24 x55 BOLT.
(GRADE 8.8 OR 10.9
REFER PAGE 14)

(3) CRACK FORM WITH
PUSH/PULL PROP

(4) FIT FORM RETRACTOR
AND RETRACT FORMS.
REMOVE FORM RETRACTOR

(5) HOLD BACK FORMS
WITH BAR TIE AND
THE S/S ROLLER
LOCK BRACKET.

{akhoio000000;

() CLEAN & OIL FORMS

.
Ed o‘o‘o’o‘o‘o‘o’o‘o‘o‘o'dﬁgojo:o:o:o:o:o:oﬁd

<]
2 ROLL FORMS FORWARD
o AND LOCK DOWN WITH
<]
<]
o] (@ REMOVE REFLEX J
[~ = [ PLATFORM  PIN
o]
- . -
STAGE 1 STAGE 2
3rd POUR CURED : :
o 5 | ]
] REPOSITION FORMS I
- AFTER COMPLETION =
2 OF REO INSTALLATION. e FIT ANCHOR SCREW TO FORM
% e FACE WITH M24 x55 BOLT.
<] ) (GRADE 8.8 OR 10.9
o] LS REFER PAGE 14)
O o)
o] (@) REMOVE BAR TIE LOCK. ary
] INSERT REFLEX PLATFORM PIN. )
i FIT FORM RETRACTOR " @ FIT TES
<] o]
<] o)
.0, =k
0] 9]
0] a
S T3 LOCK FORMS, WITH BAR TIE s
o AND THE S/S ROLLER —
z LOCK BRACKET, AGAINST __
..... XX PREVIOUS POUR. 25.8:8,0.0.0.0:
oTE O]
p ‘O‘ m
o 0]
o o]
o 0]
O .0,
o 0]
o K
9 9
. n =
rROLE O]
2 < REMOVE LOWER CLIMBING
S o WALL BRACKET &
o o ANCHOR SCREW
o o]
o 0]
o K
— | — |9
o)
—p o '
.0 K
,\/__-13_0_ /\,_-ﬂg
STAGE 3 STAGE 4
4th POUR READY TO BE POURED
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %‘%’

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding | Page 26

AUSTRALIA

DETAILS OF 50 kN INTERNAL PLATFORM SUPPORT SYSTEM

The Internal Platform Support comprises shutters
which are mounted on a Superslim Soldier base
supported by the S/S Shear Key End - 50kN and the
S/S Shear Key Arm - 50kN. The full assembly is crane
lifted until S/S Shear Key Arm locates into the newly

Nl Nl cast pocket.
AT
LEARAN EXTERNAL SHUTTER
L] [J _.u.ﬂ SUPPORT SYSTEM
S/SLIM MAKE-UP 10 MIN. (NOM) NOT SHOWN

MIN S/SLIM LENGTH = A-820mm

PLY

o
o

MAX S/SLIM LENGTH = A-800mm ° °
| WALL OPENING (A) | O llI S Z i

TITTTITITNNY

ARLERRRNARAY

o

O
)
hil
OO 00

o

oy

STANDARD LAYOUT OF
INTERNAL CLIMBING FORMS

SHEAR KEY POCKET FORM 3

CODE: SSA10045 ~
LOCATED CLEAR OF WALES TO PERMIT REMOVAL.
NOTE: THE STANDARD SHEAR KEY POCKET IS

FOR USE WITH 150mm DEEP WALES ONLY.
HOLE TO BE CUT IN PLY, 175 x130mm

[e]
[e]
[e]
o

FROM TOP OF POUR

CHECK TIE LOC'N

CLEARS TOP OF JACK ‘ C’j | Fi“ﬁ
- (o) O

S/S INTERNAL o o/ [T
SUPPORT JACK
CODE: SSA20007

[
O

T ([T ]| oy

S/S SUP PLATE
CODE: SSA20008

(LIGHTLY OILED)

O
B
i

B}

|
NAILED TO

4
Ol
PLY DECK jﬁ‘: jﬁi | : / ~ LI;Z v \§’§r §
. 7 .
\g 5 / OOO o o §
INTERMEDIATE SHUTTER m@ 0 o e oo [0 @m
SUPPORTS

D00 -0 D
/,

|
TECHNICAL DATA

O

S/S INTERNAL SHUTTER JACK
CODE: SSA10027

M16 x40 BOLTS G8.8 S/S SHEAR KEY END
CODE: BNA11635 ~ 50kN
M16 HEX NUTS G8 CODE: SSA10032 g(l%’ CONhZIE(\mggEsISN SPRING
CODE: BNA11600 — + X
6 BOLT CONNECTION ATALLTIWEEQNTED BLUE) / PIN CODE: ~ SSX10044
| X CLIP CODE: SSA10095
[ M20 WASHERS
L o CODE: BNA22000
~ R
ALFORM/TIMBER & PLY r
PLATFORM o o) o Q) :@5
O O\Q e
7 SN |
[} [} [e) [}
UNDERSLUNG S/S SOLDIERS
WITH SPREADER BEAM ADAPTORS
AT APPROPRIATE CENTRES FOR — | | 1 /
LIFTING PLATFORM e S/S SHEAR KEY ARM
' [ 100 A — 50kN
CODE: SSA10042
S/S SHEAR PNOT PIN — 50kN -
CODE: SSA10055 (PAINTED BLUE)
S/S COTTER PIN 63 x8mm
CODE: SSA10055
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding | Page 27

AUSTRALIA

DETAILS OF 25 kN INTERNAL PLATFORM SUPPORT SYSTEM

oy —— 12— The Internal Platform Support comprises shutters
o o which are mounted on a Superslim Soldier base
J o= o L supported by the S/S Shear Key End - 25kN and the

S/S Shear Key Arm - 25kN. The full assembly is crane
lifted until S/S Shear Key Arm locates in to the newly

a1 o) 1 el 1§ cast pocket,

L J B 20 MAX.
[ 70 MIN. (NOMINAL

MIN S/SLIM LENGTH = A-820mm
MAX S/SLIM LENGTH = A—800mm

WALL OPENING (A)

STANDARD LAYOUT OF
INTERNAL CLIMBING FORMS

VERTICAL SOLDIERS AND
LOWER SUPPORTS ARE NOT NOTE
IN THE SAME PLANE EXTERNAL SHUTTER

SUPPORT SYSTEM
NOT SHOWN

550

ALTERNATIVE LAYOUT OF
INTERNAL CLIMBING FORMS
WITH WALES <150mm HIGH

SHEAR KEY POCKET FORM

CODE: SSA10045

LOCATED CLEAR OF WALES TO PERMIT REMOVAL.
NOTE: THE STANDARD SHEAR KEY POCKET IS
FOR USE WITH 150mm DEEP WALES ONLY.
HOLE TO BE CUT IN PLY, 175 x130mm

PLY TO BE CUT TO ALLOW ACCESS
TO THE LEVELLING SCREW.

.

S/S SHEAR KEY
FORM BRACKET MK1

CODE: SSA10160 )| — vl 8] o

ALFORM/TIMBER & PLY o o
PLATFORM il

S/S CONNECTING PIN
& SPRING CLIP
CODE: SSX10044
CODE: SSA10095

FLOOR — FLOOR HEIGHT

TECHNICAL DATA

50 LAP

[~ LEVELLING SCREW

I
UNDERSLUNG S/S SOLDIERS
WITH SPREADER BEAM ADAPTORS
AT APPROPRIATE CENTRES FOR
LIFTING PLATFORM

(-
VoY
S/S SHEAR KEY END — 25kN
CODE: SSA10030 X l\
M20 x130mm BOLT G8.8 — CODE: BNA12080 _ 100
* M%n NYLOC NUT — CODE: BNA12002 S/S SHERR Kggn’é'f'ésmggﬁg
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding | Page 28

AUSTRALIA

DETAILS OF INTERNAL PLATFORM SUPPORT

\ \
T~ ™~ o T~ "
i |
C = = o o
° ‘ ] ] °
\ \
\ \
\ \
\ \
o o ‘ | | | I ° °
|| |
oo I o |o
PLY TO BE CUT TO ALLOW ACCESS T \
TO THE LEVELLING SCREW. || il
(25kN SYSTEM ONLY) i & I N 1Y % ;

PLAN VIEW
UNDERSLUNG SOLDERS FOR LIFTING ARE NOT SHOWN

The lifting slings shall only

be attached to either
Superslim Lifting Plates or @ @
Spreader Beam Adaptors. C >
= = \—SHEAR KEY
POCE%)TDEFOggM 0045
=[Ol 4o I =
- sl

V LIFTING GEAR

0.0.0.0.0.0.0.0.0.0.0.0.0.0.¢||D.0d|

ADDITIONAL PROPPING
IS REQUIRED FOR
WIDE SHUTTER SPACINGS

,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,9][0.0.9|

\

'IO O
Fo'ool

A

TECHNICAL DATA

i \ - | g | | X X X L
rasm i) ey [oXeXXEXE] I [SXOXS] [l ANt RUG, T
0,0,0.0:0,0;0;0,0;0,0:0,0,0;0 o /

55660] [0000] I N [ J -
S/S SPREADER BEAM UNDERSLUNG SOLDERS FOR LIFTING
ADAPTORS
TYPICAL SECTION
This information conforms to AS3610 RMD reserves the right to change this information.
DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’

7



CLIMBING FORMWORK - APPLICATIONS

RMD - Excellence in Formwork, Shoring & Scaffolding

TD 021

Page 29

AUSTRALIA

INSERT PIN THIS HOLE
/TO STRIP FORMS

INT ANGLE 'B’

S/S INTERNAL ANGLE 'B’
CODE: SSA10270

S/S INTERNAL CORNER PIN
CODE: SSA10060

S/S INTERNAL ANGLE A’
CODE: SSA10260

INT ANGLE “A’

DETAILS OF CORNER SYSTEMS - READY FOR POURING CONCRETE

17mm /g
PLYWOOD

: UNIVERSAL CLIP
/ CODE: AFX20015
M12 UNIFIX BOLT

S/S HD INTERNAL CORNER
/ CODE: SSA10280/SSA10285

CODE: AFX20022
M12 NUT
CODE: BNA11200

/ EDGE OF S/S CORNER CLAMP
, 1S T BE IN LINE WITH
B CONCRETE FACE

N

S~

PLAN VIEW OF FORMS

50mm_MAX

5

300 REF.

S/S CORNER CLAMP
CODE: SSA10325
SERRATED DOUBLE NUT
CODE: AFA10015

M12 x25 BOLT
CODE: BNA11205

M12 FLAT WASHER
CODE: BNA21200

/ALFORM TO BUTT TO

ENSURE CLAMP, BOLT
& SERRATED NUT IS
SECURE & CONNECTED.

ELEVATION OF
EXTERNAL FORMS

S/S EXTERNAL CORNER
CODE: SSA10290

RAPID 15mm BAR TIE CAST WING NUT
CODE: BTX10001

ALFORM BEAM
u
H ey ML
4 | =}
| Iree
H -
= o
|
|
[
| °] ([Jodh
? h
o L__/UNIVERSAL cup
CODE: AFX20015
. M12 UNIFIX 8OLT
: n CODE: AFX20022
u 5 (1o 2 N
1% - CODE: BNA11200
CN |
N | |/

S/S CORNER CLAMP
CODE: SSA10325
SERRATED DOUBLE NUT
CODE: AFA10015

M12 x25 BOLT
CODE: BNA11205

M12 FLAT WASHER
CODE: BNA21200

This information conforms to AS3610

RMD reserves the right to change this information.

DATE: 18 Nov 2013 ISSUE No: 6

PREPARED BY:

D.H. APPROVED:

Yis)

7

TECHNICAL DATA



CLIMBING FORMWORK - APPLICATIONS TD 021

RMD - Excellence in Formwork, Shoring & Scaffolding Page 30

AUSTRALIA

DETAILS OF CORNER SYSTEMS - STRIPPED FORMS

TOTAL STRIP 35mm
OVER TWO STAGES.
FIRST STAGE 17mm

gy

TOTAL STRIP 35mm
OVER TWO STAGES.
FIRST STAGE 17mm

TECHNICAL DATA

This information conforms to AS3610 RMD reserves the right to change this information.

DATE: 18 Nov 2013 ISSUE No: 6 PREPARED BY: D.H. APPROVED: %—%’
7




	TD021 Climbing Formwork 01 (1)
	TD021 Climbing Formwork 02 (1)
	TD021 Climbing Formwork 03 (1)
	TD021 Climbing Formwork 04 (1)
	TD021 Climbing Formwork 05 (1)
	TD021 Climbing Formwork 06 (1)
	TD021 Climbing Formwork 07 (1)
	TD021 Climbing Formwork 08 (1)
	TD021 Climbing Formwork 09 (1)
	TD021 Climbing Formwork 10 (1)
	TD021 Climbing Formwork 11 (1)
	TD021 Climbing Formwork 12 (1)
	TD021 Climbing Formwork 13 (1)
	TD021 Climbing Formwork 14 (1)
	TD021 Climbing Formwork 15 (1)
	TD021 Climbing Formwork 16 (1)
	TD021 Climbing Formwork 17 (1)
	TD021 Climbing Formwork 18 (1)
	TD021 Climbing Formwork 19 (1)
	TD021 Climbing Formwork 20 (1)
	TD021 Climbing Formwork 21 (1)
	TD021 Climbing Formwork 22 (1)
	TD021 Climbing Formwork 23 (1)
	TD021 Climbing Formwork 24 (1)
	TD021 Climbing Formwork 25 (1)
	TD021 Climbing Formwork 26 (1)
	TD021 Climbing Formwork 27 (1)
	TD021 Climbing Formwork 28 (1)
	TD021 Climbing Formwork 29 (1)
	TD021 Climbing Formwork 30 (1)

